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DIVIDING EXPONENTS WITH THE SAME BASE

The Quotient Property

or

PART I: Use the quotient property to solve each of the following. The first problem has already been
solved for you.
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PART II: Use the quotient property to solve each of the following. The first problem has already been
solved for you.
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ANSWER KEY

PART I:
30
1. 97+95=_ 92 7 =172
2. 1112 - 115 =117 8. 1517 = 157 = 1510
7
3 % — 54 9. 1028 = 1016 = 1012
4
4. 210 L9 — 99 10. %:10Z
1621 2 50 27 23
40
6. 824 -89 = gi5 12. 2210 — 3230
PART II:
9 4 5 p10° 36
18. x7 = x* = x 19'177:1’
14. y16 - ye _ y10 20. x29 = x7 = x22
k%7 50 . .,25 25
15-F= k18 21,y -y =y
19
16. y39 - y36 _ ys 29 “v’v_g — w10
g°° 1 88 . .36 53
1?.F=g 23. x°° +x°°=x
19
18. m%0 + m* = m?° 24. = V7
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